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Jerome wants to secure a flagpole to the ground using a piece of rope that is 10 feet long. He is going to
tie the rope to the top of the flagpole and then secure the other end of the rope to the ground. The

flagpole is 8 feet high. How far out on the ground does he need to secure the rope from the flagpole so
that the rope is tight?

A. 36 feet B. 2 feet

C. 6 feet D. 24 feet
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The top of a fire truck is 10 meters from a wall. The ladder
attached to the top of the truck is leaning against the wall. It is
13.5 m. long. What is the distance, d, where the ladder touches
the wall above the top of the fire truck?

A. 9.1 meters B. 16.8 meters

C. 82.25 meters D. 3.5 meters
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Victor is constructing a rectangular window frame, but he wants to

6 feet

make sure the corners are square. I the sides are 4.5 feet and 6 feet,
how long should the diagonal be?
4.5 feet

A. 5.5 feet B. 6.5 feet

C. 7 feet D. 7.5 feet
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A tunnel is to be dug straight through a mountain from point A to point B. Someone standing at point C
can see both point A and point B. If AC is
1.4 miles and BC is 1.2 miles, what will be the length of the tunnel?

1.4 miles 1.2 miles
c

A. 3.4 miles B. 0.7 miles

C. 1.8 miles D. 2.7 miles
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Keith drove east from Matagorda to Freeport along a straight route of 40 miles. He then took San Louis
Pass bridge east into Galveston another 30 miles. He made a 90° turn and headed north to Houston
traveling another 45 miles. Based on the map above, if he had taken the diagonal route directly into
Houston from Freeport, how many miles would he have saved?

A. 25 miles B. 54 miles

C. 21 miles D. 15 miles
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A regulation college football field is 300 feet long (not including the end zones) and 160 feet wide. Find
the length of the hypotenuse in the image of the football field.
The right triangle formed is 300 feet long and A feet wide.

Using the Pythagorean Theorem, ( B ft)> + (160ft)> = c2, so the hypotenuse is
C ft
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The safety committee for ABC company recommends that a floodlight be mounted in a parking lot so
that the employee exit will be illuminated. According to the illustration, what is the distance from the
floodlight to the employee exit?

Floodlight 4

39.82 ft

Employee
51.74 ft ploy

A. 4262.66 ft B. 33.04ft

C. 91.56 ft D. 65.29 ft
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A contractor is building the roof support for a house. She knows that the support needs to be 36 feet
wide, and each side will be 19.5 feet. There will need to be a support piece in the middle. How long
should the support piece be?
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36 feet

A. 6 feet B. 6.5 feet

C. 7 feet D. 7.5 feet
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A town is remodeling a square park that has a perimeter of 600 meters. They plan to divide the park
into two parts with a diagonal fence from opposite corners. Approximately how much fencing will be
needed for this project?

A. 424 meters B. 850 meters

C. 210 meters D. 150 meters




image1.tmp
Littletown is located 30 miles to the east and 40 miles to the north of Bigtown. How far apart are the two

towns?
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A. 30 miles B. 40 miles
D. 60 miles

C. 50 miles
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A flag pole has a 50 foot guide wire attached to the top of the pole and extending to the ground 13%
yards from its base. How tall is the flag pole?

A. 52 feet B. 30 feet

C. 64 feet D. 50 feet
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Two students leave school and walk to the bus. One student
walks down the sidewalk, makes a 90 degree turn, and then
walks to the bus. The second student walks across the
parking lot, directly to the bus. The distance the first student

traveled is indicated on the diagram shown. How much
distance di

parking lot?

the second student save by cutting across the

A. 26.9 feet B. 38 feet

C. 11.1 feet D. 64.9 feet




